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The figures in the margin indicate
Sull marks for the questions.

Answer any five questions.

1. (A) Fill in the blanks: 1x5=5

(i) The quantity of electricity needed
to liberate one g equivalent of an
element is coulombs.

(i) Prevention of corrosion of iron by
metal coating is called

(iii) Octane number of isooctane is
considered to be
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7. @A)

(B)

€

(D)

Give the mechanism of acid or base
catalysed aldol reaction. 5

In the reduction of nitric oxide 50% of
the reaction was completed in Ko
seconds when the initial pressure was
258 mm Hg and in 224 seconds when
partial pressure was 202 mm Hg. Find
the order of the reaction. 5

Describe the mechanism  of
electrochemical corrosion when a metal
comes in contact with acid. 5

Write types of hybridisations, shapes
of singlet and triplet carbene with
examples. 5

What is a coordinate or dative band ?
Explain the formation of ammonium
ion. s, 2+3=5.
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